ZAEFETHE (SMR) (BEM#HEM - BH) (H18—22) £E:100
HHET#T - RIERRT SMR TR LR
753 R 5 = 96. 6 95.0 98. 1
= R B R B & 94. 1 91.5 96. 7
mE R B BE & 97.6 92.8 102. 3
n m R B E B B 99.3 93.8 104. 8
H K R # E & 97.7 91.4 104.0
F B FlERREEREB 92.5 88.5 96.5
2 R R B E & 103. 1 96. 8 109. 3
F B R B E & 94.6 90.0 99.2
BE £ R B E & 105. 4 96. 3 114. 4
T £ R BB E B B 98.7 93.3 104. 2
XERESREEEESRTHR2 456 BFERK
EEgEY B (18—22) ZHRERBREEE
120 | eSMR -TFR -LtRE |
110 L ;
100 ] T
P é T T ; L % .
90 )
80
= i3 53] I H B = BT #e =
" 3 iE 3 K B 7 = £ ES
[ B % = % . % ® % ®
=] ® Ve Vel e ® Vil Ve e Ve
Vi E E E 1% E E E =
& & = & ® & & & &

E}




REMRFETE (SMR) (BHEY - k%) (H18—22) =£E:100
TETHT - fREERT SMR TR EBR
53 U 5 (=3 93.8 92.0 95.5
BE R &5 R & & E 97.4 94.3 100.5
mE R B E B B 92.4 87.1 97.6
n ®w R B E & 88.3 82.3 94.3
H oK & 8 E & 99.9 92.4 107. 3
wmE - FERRBEIRE 92.7 88.0 97.4
TR KR & E B B 101.5 94.0 108.9
F B & & E & B 89.9 84.6 95.2
B E R B E & 89.2 79.2 99.2
7T = R B E B HE 85.7 79.8 91.6
XKERSEERISERTR 2 456 AERL
EMHAEY kM (18—22) ZHREBRERERE
110 | SMR -TE -t[R |

——

90§f§%

80 S

4
——i
-——1

70
B e 5] n H = = FF i =
R’ U 3 [ X R S = £ =
5 5 % ® ® ® ® ® ®
7 ® & 2 & & i & 2
2 ES = ES ES = ES ES
= 3 " & 3 = 3 =

[ 5

E

[ 5

E

B S R R A -
[H
[0
[oH
[0




ZEETHE (SMR) (BXA-BH) (H18—22) £E:100
mETH - REEFT SMR TR LR

553 B 5 = 10.3 67.1 13.6
E R 58 R & & B 71.4 65. 7 77.0
mE KR B E B B 65. 2 55.5 74.8
n m®w ® # E B B 72.3 60. 6 84.0
H K R & E & 78.9 64.7 93.0
e R - FEGRREERERBE 61.4 53.3 69.5
g R R B E & B 74.5 61.2 87.8
F B & & E & B 66. 6 57.0 76.2
B E R # E B B 81.7 61.8 101.6
T X K B E B B 13.7 61.8 85.5

XERSREEIBERTMR2 456 AEM

ENA Bl (18—22) ZRFREEERE
| eSMR -FE -LtRE |

110
100
90
80 L 3 l
2
0 4 % L * J. ;
60 i = % 1
50
i B 3] i H 5 = B HE =
U] ) 3 3 7K B I B £ E
5 5 R R e . R R R &R
g2 7R 2 2 2 = 2 2 2 2
2 ES ES 3 & ES ES = £




ZAEETE (SMR) (BAA %) (H18—22) £H: 100
TET#T - REEFT SMR TR LB
i3 B 5 = 69. 8 65.6 14.0
BE R B K & & 72. 1 64.7 79.6
mE R B E B E 61.5 49.8 73.2
nm mw ® & E & B 54.3 41.4 67/.2
H K &K & E & 97.0 76.6 117.4
AR - FEREERERE 72.8 61.3 84.3
qF R K& B E & 80. 6 62.3 99.0
F B R B E & B 62. 6 90. 3 75.0
BB E R 8 E & 56. 1 34.1 78. 1
' X R BB E B B 69. 1 54. 6 83.7
XER B R RRIEER TR 2 4 & 6 A1
BHhA L (18—22) ZHRREBREEE
120 | eSMR -FR -tRE
110
100
90 T
T + :
80
70 b % T ‘ T +
o it - 1
: ‘ .
40 l
30
3 B ™ )i Hi & &% i e %
[ " & i K B 7 B £ %
5 5 2 2 2 : 2 2 & 7
C 7 2 fe e 7 e e e e
e E = = tx 3 E E =
it i 7 it 2 7 i R 7
&5 & & & 2 & 5] 5] &
=




ZALETE (SMR) (fdA-BH) (H18—22) £HE:100
HHETH - REEFT SMR TR EBR
R R 5 =1 94.8 91.7 97.9
BE R B & # & 96. 4 90.9 101. 8
moE R B E B B 93.8 84.3 103. 4
n m®m K B E & B 104.9 93. 4 116.5
H K R B E & 87.3 75. 1 99.5
f R - FIEREEEBE 90.8 82.7 98.9
2 R R & E & 95.5 83. 1 107.9
F B & & E & B 82.2 713.4 90.9
BE £ R B E & 110.4 91.5 129.3
T £ R £ E E B 98.3 87.1 109. 5
XERBEREEEETN 2 446 AR
fintA B (18—22) ZREREREE
| eSMR -FB -LtE |
140
130
120 T
110
100 = I + - T T ;_
w e 1 S S
- ? L e
80 1
l
70
2 fE 3 I H = w BT #e %=
[l [l i iE X B 1 B £ ES
[ 5 = ® = . = 7 % ®
2 = 2 e 2 vEd 2 Ve Ve Vel
e E 3 E 1 E E E E
& & & & ® = & & &
e

=




ZHEILFETE (SMR) (‘A -&HE) (H18—22) £H:100
HETH - REEFT SMR TR LR
753 /5] 5 =} 96. 5 91.7 101. 4
BE R B R £ & B 103.3 94. 6 112. 1
mE R B E & B 98.7 84.2 113.2
nm m©wm R £ E B B 80.5 65. 1 95.9
H K & 2 E & B 95.5 75.8 115.2
wE - FEREERERBE 98.4 85.3 111.5
g2 R &R B E & B 83.6 65. 4 101.8
F B ® B E & B 81.2 67.5 94.9
BE £ R B E & B 116.8 86.0 147.7
T == R B2 E B B 103.0 85. 6 120.5
XERSEREREETR 2 4% 6 AR
A & (18—22) ZXRIEBEEER
¢SMR -TFB -tRB |
150 =
140
130
o .. ) ’
100 f + + T
%0 : T * T
L 1 .
80 + +
70 I i T
60
e fE ] n H 4 & BT fe 5
17 B [ 3 X B 1 B E z
g g ® ® ® ® ® ® ®
8 ® &’ &’ f’ 2 & f’ &
2 E E= E E £ E ES
= = = = it 2 = #

G 3
F

& E £3

B S R R A -
[H
[0
[oH
[0




ZALRETE (SMR) (KEBHKA - BHE) (H18—22) £H:100
HHET#T - GREEFT SMR TR LR
75 B 5 =3 88.5 84. 1 92.9
BE R B & g & 84.6 71.2 92.0
mE R B E B B 92.2 78.3 106.0
n m®m K B E £ B 83.3 68. 2 98. 4
H oK & BB E & 92.9 74. 4 111.4
AR - FERRBEEB 84.1 72.7 95.5
2 MR R & E & 90.8 73.1 108.5
F B & & E & B 90.7 11.2 104. 2
BE E KR B E & 90.7 65. 6 115.9
' X R B E B B 100.0 83.4 116. 6
XERERBEMERTR2 46 AR
KENA B (18—22) ZZREBEEE
190 | #SMR -FR -EtRE |
110 T
100 T T
* I : 1
80 I L
70
60
i 73 £ i H & = T BE =
2] ] 3 3 7K B i B 3 ES
] B % % 1% . % % % %
2 7 i i 2 # i & & 2
iz E S £ & E 3 3 £
&= 7= &= = ® 7= 7= &= =

B 5 T




EAELETLE (SMR) (KBAA -ZE) (H18—22) £E: 100
HETH - REEFRT SMR TR LR
753 U7} =) = 81.2 82.7 91.6
BE B B &#& # & 88.7 80.9 96. 6
mOE R B E B B 87.1 73.9 100. 3
n ®E ® & E & B 87.9 12.4 103.5
H K R B E & 112.5 91.8 133.2
f R - FEREEEBE 88.0 76. 1 100.0
2 R R & E & 76.8 59.8 93.7
F B & B E & B 86.4 12.7 100. 1
BE £ K B E & 56.0 35.3 76.8
T X KR B E & B 80.5 65.7 95.4
XERBEREEERTR2 4 F6 AR
KEHNA &M (18—22) ZHRIFEEEE
140 | eSMR -TFR -ER |
130
120
110
100 = T
90 | 2 % | + I + | T
70 -
60 73
50
40
30
FE = 53] I H 0 = BF Be 5
I [ 3 i K B 7 = £ ES
[ [ = % % . = ® % =
] ® Vicd 2 2 e Vicd 2 2 Vicd
Vied E 3 E 1k E 3 E E
= = =3 =3 ® = =3 =3 =
ﬁé
&




SEMLRETH (SMR) (FE A -XH) (H18—22) =£=E:100
mHETF - REEFT SMR TR ERR

i R 5 =2 98.2 89.0 107.3
BE R 5 &K # & 107.9 91.7 124.1
M oE &R B E KR B 92.7 65. 3 120. 1
n m, R & E &R B 68. 2 40.9 95.5
H K R & E & 13.5 40. 4 106. 5
f R - FERREER 104.3 79.0 129.7
B R K B E K 125.1 82.4 167.7
F E R ## E & B 81.3 60. 2 114.3
B OE R 2 E &R B 99. 4 45. 4 153.5
T x R B E &R B 95.0 62. 6 127. 4

XERSREERIBERTMR2 456 AER

FENA L (18—22) IZXREBEERE
| #SMR -TFR -LtRE

180
160
140
120 I T * .
S S * R
| s ¢ |
60
40
20
B = & i e 4 & W 5 =
= = 7% i X B 7 B £ x
& 2 = & & : = & & =
8 7 2 2 2 # 2 2 2 2
2 B B B t B B B B
= P = % 7 e = = P




ZAEETLE (SMR) (EFLAA %) (H18—22) =£H:100
HETAT - REERFT SMR TR EBR
R R = =1 715.4 69.7 81.1
BE R B & # & 91. 4 81.1 101.8
moE R B E B B 75.6 57.8 93.4
n m® ® # E & B 70.3 50.4 90. 2
H K R B E & 55.2 34.7 75. 6
f R - FIEREEEBE 71.9 57.0 86.8
2 R R & E & 11.4 48. 4 94. 4
F B & & E & B 62.2 45.9 78.5
BE £ R B E & 15. 4 0.3 30. 6
T X R £ E E B 70. 1 50. 1 90.2
XERBEREMERTR2 4446 BER
ANA LT (18—22) ZRIEEBERERE
190 | eSMR -FR -tR |
100 E
w | - | r ] T
: T T e e ’
60 & L
Il T | 1
40 +
20 %
0
i i 5 I H B & BT #e =
5] I 3 (3 7k B 1 B £ ES
B E = ® ® . ® ® ® ®
2 ® e e i e e e e i
fi2 E 3 E t* 3 E E E
=" = = = ® = = =" =




ZAEETE (SMR) (MEE-BMH) (H18—22) £H:100
HHETH - REEFR SMR TBR ER
e R 5 =1 94.3 92.0 96.5
BE R B & # & 86. 2 82.4 90.0
B OE R B E & B 97.3 90. 2 104.5
n m ® 88 E £ B 86. 4 78.8 94.1
H K R B E & 94.3 84.8 103.7
f R - FIEREEEBE 99.9 93. 6 106. 1
2 R R & E & 110.5 100. 6 120. 5
F B & 8 E & B 93.6 86. 7 100. 6
BE £ R B E & 97.5 84.2 110.9
T £ KR B2 E E B 96.5 88.3 104.6
XERSEREMEZTR 2 456 AR
MEE B (18—22) ZZREBEEE
130 | ®SMR ~-FIE -t |
120 -
110
¢
: T e . t
90 i f I i |
80 &
70
fE [ 3 I H B4 o BT #e %=
[l =] 3 73 K B 1 B £ ES
5 B = & ® . = 7 7 ®
=} = Vel Ve Vel Ve Vel Ve Vel Vel
Vied E E 3 1 E E E E
= = & & = = & & =
Eé
=

&




ST (SMR) (MERE-%X%) (H18—22) £E:100
mETH - REEFT SMR TR LR
53 U] 5 = 97.0 95.0 99.1
E R 58 R & B B 94.2 90. 6 97.7
moE R B E B B 97.4 91.5 103. 3
n mw R 88 E B B 93.0 86. 2 99.8
H K & & E & 104.7 96.0 113.3
e R - FEGRREERERBE 99.5 94.0 104.9
g R K& BB E & 107.7 98.9 116. 4
F B & & E & B 100. 3 93.9 106. 7
B E R 8 E B B 95. 6 83.7 107.5
' X K B E B B 88.6 82.1 95.2

XER BRI ER TR 2 4 & 6 AER

120

110

100

90

80

DEE &M (18—22) ZRIEBEEE
| eSMR -FR -t |
T + T |
IR * f
fE i ] I H & = BT #E %
] [ 3 3 X B 1 =] £ S
5 E = = ® . = =" = =
=l ® i i i) Ve i i i 2
2 E E E 1k E E E E
= = = &= ® = = = &=
2




EEILETE (SMR) (RMDLESHIEE-ZH) (H18—22) £E:100
HETA - {RIEAT SMR TR ol Y
FE B g = 128. 6 123. 4 133. 8
BE IR B & & & 120. 4 111.5 129. 4
mOE R OB E K 123.5 108. 7 138. 3
n @B R & E B B 106.0 89.9 122. 1
H oK R B E & 143.7 121.3 166. 1
AR - FIERRBRBERE 139. 1 124.7 153.5
2 R R B E & 105. 4 86. 4 124. 4
F B R B E & H 154. 5 136.9 172.0
B £ R B E & 134. 1 103. 1 165.0
T X KR B E B B 141.8 123. 4 160. 3
KER B R RIEER T 2 4 & 6 HYER
SHELHIEE & (18—-22) ZRERERE
¢SMR =-FB =-tE |
180
160 I %
140 J % -
120 § %- ‘% l I I
100
L |
80
B B 3] n H & = FF e =
B B 3 [ 7K B i B E £
= = ® e e . e (£ (£ (£
= e I fi2 2 # 2 I fi2 2
e = = = 1% = = = =
& P P P e P P
=

&




FHEETHE (SMR) (BRMLHEE-BY) (H18—22) £E:100
METHT - RIEFR SMR TR LR
e R 5 =2 120.4 115.5 125.4
BE R 58 & & & HE 107.3 99.2 115.4
moE ® BB E & B 121.4 106.0 136. 7
n % R 8 E & E 100. 6 84.7 116.5
H K K & E & B 119.3 99.0 139.6
&R - FERREBEE B 137. 1 123. 1 151.2
g R K B E B B 100. 4 82.4 118.5
F B R B E & B 137.9 121.9 154.0
B E R BB E B B 132.0 102.5 161.4
T X R BB E B B 141.1 122.2 159.9

XE R B e REIE R TR 2 4 & 6 AYER

SMUHEE Bt (18—22) ZXREREERE
| eSMR -TB -tR |

170
160
150 T
140 + T
130 T I I * |
120 4—§ + - ¢ -
110 ] |
100 <+ - 7 3 =
90
80
e 723 3] Jil H & =5 FF HE =
)] B 53 iE 7K B " B £ =3
1= =] t3 t3 & . t3 E3 ® £3
=8 £3 fi# fi# i # f# f# fi# f#
fi2 E E E 1 E E E E
= &= &= = = &= = &= =
B B B B 5 B B B




FHEETHE (SMR) (KmMEXSE-FH) (H18—22) £E:100
THTAT - ERIEFT SMR TR LR
FE U] 5 1=} 114.1 111.1 117.1
BE R B K & & 103.5 98. 6 108.5
mE R B E B E 136.0 126.0 146.0
n m®w & B8 E & B 111.6 101.3 121.8
H K &K & E & 119.6 107.1 132.2
AR - FPERRERER 120.3 112.2 128. 4
q2 R R B E & 110.4 98.7 122.1
F B R 8 E & E 115.3 106. 3 124. 4
BB E R 8 E & 109.5 92.9 126.2
' X R BB E B B 105. 2 95.2 115.2
XERSEREEERTR2 4F6 AER
MEESE Bt (18—22) ZREREERE
| eSMR -TFBR -tR |
150
140 ;
-
130 T
120 - % T T T
100 = =
| .
90
i B & il H # & it ge =
R R [ 3 K B 1 & =3 x
g & #® #® #® . #® #® #® %
= #® i i i 1 i i i &
i E E E 1 E E E E
= = = = ® = = = =
£ £ £ i3 £ £ £ e
E

%




ZAEETHE (SMR) (NMEHESE -x®xMH) (H18—22) £EH:100
HHET#T - fREERT SMR TR LR
753 U7} =) L 113.2 110. 5 115. 8
BE B B &#& # & 108. 2 103.5 112.8
mOE R B E B B 134.3 125.8 142.7
n m® ® 88 E £ B 115. 4 106. 2 124. 6
H K R B E B B 115.7 104. 7 126. 8
f R - FERRBREEBE 113. 1 106.0 120.2
2 R & B E B B 104.9 94. 4 115.3
F B & B E & B 122.9 114. 3 131.5
BE £ K B E & 108.3 93.0 123.6
T X KR B E & B 92.3 84.2 100. 4
XERBEREEEZTR2 446 AER
INMERE L (18—22) ZXREBREERE
150 | #sMR -FB -tRE |
140 l
S 1
120 i
ol AR
t L | L +
100 T
L
90
1
80
i i 6] I H & BT =
I B % % K 1 B E £
g g ® 7 ® ® 7 ® ®
= ® fe fie fie e fie fie e
2 E E E E E E E
= " " = " = =

&
&

E

[

BEWRAERTSE - RS

&

E

[

&




RELFETHE (SMR) (HERE - B1%) (H18—22) =£E: 100
mETH - REEFT SMR TR LR
53 B 5 = 98.6 90.5 106. 8
E R 58 R & B B 111.0 96. 2 125.9
moE R B E B B 98.4 73.3 123.6
n mw R 88 E & B 14.3 49.3 99.2
H K & & E & 109. 1 13.9 144.2
e R - FEGRREEERBE 103.9 81.7 126. 1
g R K& B E & 110.7 16.4 145.0
F B R B E B B 89.7 66. 2 113.2
B E R 8 E B B 67.0 29.1 105.0
T X K B E B B 63.5 40. 4 86.6

XERSREEIBERTMR2 456 AEM

160
140
120
100
80
60
40
20

&

WERRE B (18—22) ZREBEERE
| eSMR_-F® -LtRE
T - T
t . t 7
_§ -
L ' T
) - e
L
B 3 i JI e i & B 5 %
R I 3 3 K B 7 B Z %
5 5 & 7 & : & 7 7 &
8 z g f i & g i f g
f2 E 3 3 f& E 3 3 B
7 7 # # & 7 # 7 7
& & & & 2 & & & &
E
7




ZAEETHE (SMR) (HER® &%) (H18—22) £H:100
THETH - RIEFT SMR THR ERR
e R 5 = 100. 7 92.7 108. 6
BE R B & # & B 97.2 83.3 111. 1
B OE R B E & B 111.7 87.1 136.3
n m®wm ® 8 E & B 714.4 50.8 98. 1
H K &R B E & 107.8 74.0 141.6
f R - FIEREEEBE 96.8 75.8 117.7
g2 N R& B E & 110.9 77.0 144.8
F B & B E & B 125.8 98.2 153.3
BE £ K B E & B 101.1 54.4 147.8
T £ R B2 E E B 87.0 61.6 112.4
XERBEREBERTR2 4446 BER
¥EFRE &M (18—22) ZXREBEEHE
| eSMR -FR -LtB |
160
140
120 l hd
* * T
100 § % l = - 4 L
80 % 1
60 |
40
fE 3 6] I H & o BT #E %
B " 3 i X B 1 B E %
E g ® ® ® . ® ® ® ®
1 ® i i f Ve i i i 2
fe E E E t* E E E E
" " " = 7 " " " =
& B & e i B & & &




SEMERETCHE (SMR) (2%E - B%) (H18—22) =£E:100

MHETH - {RIERT SMR TR LBR
53 U 5 =2 102.7 101.8 103.6
E R B &R £ &K 95.5 94.0 97.0
B oE R &2 E & B 108. 2 105. 4 111.1
n % ® B E &R B 100. 2 97.1 103.3
H K &R & E K 103.9 100. 2 107.6
f R - FEREERHE 102.5 100. 1 104.9
B R &R & E & 110.7 107.0 114.5
FER R B E R B 102. 4 99.7 105. 2
B E KR OB E R OB 110.7 105.3 116.0
' X R B E & B 107.9 104.6 111.1

XE R B e REIE R TR 2 4 & 6 AYER

%R BEM (18—22) ZXxERBREEER
| eSMR -TB -LtRE |

120

A SR
o |2 ]

90
B OB @m0 s ® F BB
R ® ® Kk B ® ®B = %
E B B & & : g g & R
B R R/ 2 ®/ £ £ @/ #/ &
g E E E # E E E E
% ® ® #® B ® B £ &
B B B B 5 B B @ H

BB & TR "




ZAEILETLE (SMR) (2%R - %) (H18—22) =£F:100
HETA - {RIEAT SMR TR ol Y
FE B g =} 100. 2 99. 4 101. 1
BE IR B & & B B 97.6 96.0 99. 1
mOE R B E K 104. 6 102.0 107. 3
n @B R & E B B 96. 7 93.7 99.7
H oK R B E & 106. 2 102. 4 110.0
AR - FIERRBRBERE 99.5 97.2 101.9
2 R R B E & 105. 8 102.0 109.5
F B R B E & H 102. 2 99.4 105.0
B £ R B E & 106. 1 100. 8 111.5
T X KR B E B B 95.0 92.0 97.9
XERERREEEZETR2 456 HIERK
2E Tl (18—22) ZHxRFREERE
| #SMR  -FR =-tR |
120
110 % % %
100 —adp § % i i
90
753 753 3] n H A = FF e =
B B 3 3 7K B i I E £
= = e (£ (£ . (£ = (£ &=
=2 (£ I fi2 2 # 2 I fi2 2
ied = = 3 1% = = 3 3
&= &= &= 7= = 7= &= 7= &=
PE P PE E i3 E P
3

&




